@ >

rol Cables

Part number: 30133-1 (X0315-)

Description: Conduit - Light Duty 3 series; .26 O.D.
Stranded construction; H.D.P.E. Jacket, H.D.P.E. liner.
Compatible with: .054, .062, .075 core sizes.

Part number: 52020041 (X0321-)

Description: Conduit — Light Duty; .20 O.D. Braided
construction; Polypropylene jacket, Acetal liner.
Compatible with: .054, .062 core sizes.

Part number: 98200565 (X1361-)

Description: Conduit — Duraflex; .218 O.D. Coiled
construction; H.D.P.E. jacket only, unlined.
Compatible with: .054, .062, .075 core sizes.

Part number: 98200718 (X1362-)

Description: Conduit — Lined Duraflex; .221 O.D. Coiled
construction; H.D.P.E. jacket, H.D.P.E. liner.
Compatible with: .054, .062 core sizes.

Y

Part number: 30502 (X1317-)

Conduit Cap: End Diameter - .355/.360,
.375 Dia. stock: Plated Steel

Best used with conduit: 30133-1

Part number: 30648-1 (X1318-)
Threaded Hub: %-28 x 7/8, .375 Dia.
stock: Plated Steel

Best used with conduit: 30133-1,
98200565 & 98200718

Part number: 30265 (X0314-)
Shoulder hub: End Diameter - .189 x .5,
.375 Dia. stock: Plated Steel

Best used with conduit: 30133-1,
98200565 & 98200718

www.cccables.com

1 of 7




@ >

rol Cables

Part number: 30310 (X1215-)
Disconnect Hub — Vernier: .687 Dia.
stock, : Aluminum

Best used with conduit: 30133-1,
98200565 & 98200718

Part number: 98201853 (X1323-)
Threaded Hub: 5/16-24 x %, .313 Dia.
stock: Plated Steel

Best used with conduit: 52020041,

Part number: 82185900 (X1322-)
Grooved Hub: Nose-.245 Dia. w/.042 x
.21 groove, .313 Dia. stock: Plated Steel
Best used with conduit: 52020041,

98200565 & 98200718

98200565 & 98200718

-----
.....

.........
\\\\\\\\\

............

%
nnnnnnn

Fore r-. -

B EF P02 VR RA DAY
I.: :-;-:-:-:-0- ‘Q-o-\ b B
tipep-pep-e- L BT R R
PP (L Rh Sk B B )
[ A 4 EL 0 AL AL R
PR, O B0 B B8 B b s
e grpe : 4R ARA

& T NN
.';',' J'l. 'l'! AL AL p

P8 00 8 090 T

....... [y .

Part number: 98202009 (X1316-)
Conduit Cap; .438 Dia. stock, .438 end
Dia.: Aluminum

Best used with conduit: 98200565 &
98200718

Parts: 98205834 Threaded Flange Hub
(X1324-) with 82067200 Internal Seal
(X1325-): 3/8-24 x 3/8 thread. Shown
with 80007 nut: Plated Steel

Best used with conduit: 98200565 &

98200718

Parts: Thread Protectors; 3/16 — yellow,
10317 (X0231-) — black, 98203795
(X1326-). % - black, 10992-1 (X0232-)
5/16 — black, 10992-2 (X0233-)

3/8 — black, 10992-3 (X0234-)

Conduit end caps - black:

.234 w/.054 hole, 10819-1 (X0159-)
.234 w/.075 hole, 10819-2 (X0264-)
Core cap, black - .062, 10757-1 (X0230-)

- OBSOLET

Part number: 30731-10 (X0273-)
Threaded Hub: 5/16-24 x % thread, .438
Dia. stock: Aluminum

Best used with conduit: 52020041

Part number: LHO03-1 (X0320-)

Threaded Hub: %-28 x %, .250 Dia. stock:

Plated Steel
Best used with conduit: 52020041

Part number: LH003-2 (X1327-)

Obsolete - replace with
8254200 (See Pg. 7)

www.cccables.com

2 of 7




@ >

rol Cables

Parts: 82103100 Utility Hub, L/D 3 Ser. (X0313-) with 30217
Face Nut(or Dash Plate) (X0311-): 3/8-24 threaded hub. Max.
3” travel. Assembly Shown w/ 80007 nut, 10867-1 washer,
30018-3 rod: Hub & Face Nut- Plated Steel.

Best used with conduit: 30133-1, 98200565 & 98200718

Parts: 98202613 R08 Utility Hub (X1328-) with 98202624 Dash
Plate (X1329-): 3/8-24 threaded hub w/flat. Flat allows detent
(prevents rotation of rod) for D-stems. Max. 2” travel.
Assembly shown with; 80007 & 30007 nuts, 10867-1 washer,
98203231 D-stem: Hub-Brass, Dash Plate-Aluminum.

Best used with conduit: 52020041, 98200565 & 98200718

Parts: 98202823 R21-Tube (X1330-) with 98202828 R21-Hex
Body (X1333-): 3/8-24 x 1/2 thread on body. Max. 2” travel.
Assembly shown with; 80007 nut, 10867-1 washer, 98202532
D-stem: Tube-Plated Brass, Body-Plated Steel.

Best used with conduit: 52020041, 98200565 & 98200718

Parts: 98202823 R21-Tube (X1330-) with 98206019 R21-Short
Body w/flat (X1332-): 3/8-24 x 3/8 thread on body. Max. 2”
travel. Shown with; 80007 nut, 10867-1 washer, 98204450
Stem w/knob: Tube-Plated Brass, Body-Plated Steel.

Best used with conduit: 52020041, 98200565 & 98200718

Parts: 98202823 R21-Tube (X1330-) with 98206248 R21-
Reverse Body w/flat (X1331-): 3/8-24 x 3/8 thread on body.
Max. 2" travel. Assembly shown with; 80007 nut, 30007 nut &
98203231 D-stem: Tube-Plated Brass, Body-Plated Steel.

Best used with conduit: 52020041, 98200565 & 98200718

Parts: 98202628 R09 Twist lock Hub (X1319-) with 98202656
Locking-Collet (X1321-) & 98202654 Dash Plate (X1320-):
7/16-20 threaded hub. Max. 2-1/2” travel. Shown with 30013
nut, 10197 washer, 98203000 T-Handle/Square stem: Hub &
Collet-Brass, Dash Plate-Aluminum. Best used with conduit:
30133-1, 52020041, 98200565 & 98200718

www.cccables.com

3 of 7




@ >

rol Cables

Light Duty Core/Strand X-Packs - Solid Stainless Steel: .054 Dia. 10369 (X1357-); .062 Dia. 98205213 (X1358-) Stainless Steel
Strand, .062 Dia.: 1x19 construction, 52020133 (X1359-); 7x7 construction, 98205457 (X1360-)

Part number: 30018-3 (X0074-) 3 Series
Standard Utility Rod: Specifications for
crimping onto smaller core.
Compatible with: .054, .062 core

Part number: 30743-1 (X1342-)
Threaded Rod; 10-32 x 5/8, OAL 1.25:
Stainless Steel

Compatible with: .054, .062 core

Part number: 82115200 (X0270-)
Threaded Rod; 10-32 x 1-1/4, OAL 1.87:
Stainless Steel

Compatible with: .054, .062 core

Part number: 30669-1 (X1348-)
Boot-Rod, 10-32 x 7/8: Used to secure a
boot in groove: Plated Steel
Compatible with: .054, .062 core

Part number: 30244 (X1341-)

Threaded Rod; %-28 x 1-3/4, OAL 2.47:

Plated Steel
Compatible with: .054, .062 core

Part number: 30246-1 (X0095-)
Threaded Rod; %-28 x 1, OAL 1.75:
Plated Steel

Compatible with: .054, .062, .075 core

e 8

e

Part number: 30169 (X0265-)
Threaded Rod; %-28 x 3/4, OAL 1.25:
Stainless Steel

Compatible with: .054, .062, .075 core

Part number: 82042600 (X1346-)
Button; 3/16 Dia. x .25 long: Stainless
Steel

Compatible with: .054, .062 core

Part number: 98312400 (X1347-)
Button-Radius End; 3/16 Dia. x .25 long:
Stainless Steel

Compatible with: .054, .062 core

www.cccables.com

4 of 7




@ >

rol Cables

»

Part number: 30245-1 (X1344-)
Button-Radius End; % Dia. x .25 long:
Plated Steel

Compatible with: .054, .062, .075 core

Part number: 30245-3 (X1345-)
Button-Radius End; 5/16 Dia. x .25 long:
Plated Steel

Compatible with: .054, .062, .075 core

Part number: 30471 (X0266-)
Terminal Eye; .265 Dia. Hole: Plated
Steel

Compatible with: .054, .062, .075 core

Parts: 30335-1, Term-eye (X1336-) with
10378, Bearing (X1337-)

Groove to retain boot; %”1D w/bearing,
5/16” ID w/o bearing: Plated Steel
Compatible with: .054, .062 core

Parts: 82513000, Ball-joint (X1340-) with
10709, Ball stud (X1338-)

Crimp-on Ball Joint w/retainer clip. Stud
w/1/4-28 x %” thread: Plated Steel

Part number: 30757-1 (X1334-)

Clevis: Plated .256 Dia. cross hole shown
with: 30245-1 Button on .062 strand.
Compatible with: .054, .062, .075 core,

Compatible with: .054, .062, .075 core

can also use die cast barrel or ball.

Part number: 82130500 (X1335-)

Threaded Connector: Alum. %-28 x.5 I.D.

s/w 98312400 Button on .062 strand.
Compatible with: .054, .062 core

Part number: 98204450 (X1351-)

Stem w/Knob: Plated. Used with RO8 &
R21 utility heads.

Compatible with: .054, .062, .075 core

Part number: 30049-1 (X0091) 3 Series
Standard Swivel: Specifications for
crimping onto smaller core.
Compatible with: .054, .062 core

www.cccables.com

5 of 7




@ >

rol Cables

Part number: 98202532 (X1350-)
D-Stem, knurled end: Plated. For RO8 &
R21 utility heads. Flat side to prevent
rotation. Knurled for press-on knob.
Compatible with: .054, .062, .075 core

Part number: 98203231 (X1349-)
D-Stem, 10-32 x .5 thread. For RO8 &
R21 utility heads. Flat side to prevent
rotation. Requires thread on knob.
Compatible with: .054, .062, .075 core

Part number: 98204431 (X1354-)
“Choke” Knob Press-on. For RO8 & R21
utility heads. Press onto 98202532.
Other press-on knobs available contact
factory for details and availability.

Part number: 82153700 (X1355-)
Knob w/10-32 thread. For RO8 & R21
utility heads. Threads onto 98203231.
Other knobs available contact factory
for details and availability.

Part: Chrome T-Handle

98314200 (X1356-), 10-32 thread for
use on 98203231 D-Stem.

98203236 (X1352-) made to press onto
98202532 D-Stem.

Part number: 98203000 (X1353-)
Chrome T-Handle on square stem. Used
with R09 “Twist-Lock” head assembly
Compatible with: .054 solid core only:
Can be modified for larger solid core.

| g g il i ol e e e e b e e |
e e R S

&

b"lvb;—--.-nas.
| e - x
e _—.s

- e .
5 BEE2AREE LT

10709 Ball Stud (X1338-)

Ball Joint; quick disconnect w/10-32
threaded hole. Stud w/1/4-28 x %”
thread: Plated Steel

Zink, Die-Cast Barrel Assemblies: 96”
long, .062 Dia. 7x7 strand construction.
X-pack; 25 ea. Barrel sizes available:
.200 Dia. x .420: 92014501, X1310-00
.236 Dia. x .315: 92014502, X1311-00
.312 Dia. x .470: 92014503, X1312-00

Zink, Die-Cast Ball End Assemblies: 96”
long, .062 Dia.7x7 strand construction.
X-pack; 25 ea. Ball diameters available:
.187 Dia. — 92045200, X1313-00
.250 Dia. — 92045201, X1314-00
.312 Dia. — 92045202, X1315-00

Additional fittings available (Not Shown):

+ 98203296 5/16-24 X 1-7/16 Hub (2" OAL)
+ 98201725 #10-32 X 1/2" Rod (0.80" OAL)

www.cccables.com

6 of 7




Part number: 82542000 (X1327-)
Replaces LHO03-2: Conduit Cap: .280
Dia. stock: Plated Steel

Best used with conduit: 52020041,
98200565 & 98200718

@ >

rol Cables

www.cccables.com

7 of 7



